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1 Implicit Statements

In this chapter, you will:

» Understand the concept of implicit and explicit statements
» Learn to classify statements as implicit or explicit

IL

. INTRODUCTION TQ CONCLUSION AND IMPLIED STATEMENTS

In this type of question you are given a Main Statement (or passage) followed by a set of numbered
statements. You are expected to decide whether each of the numbered statements is implied or
implicit in the Main statement.

A statement (a) is implicit or implied in another statement (b) if the statement (b) indirectly points
to (a). An explicit statement is one in which the subject matter or conclusion to be drawn is directly
mentioned.

For example,

“Ram stood first in the race”.

The conclusion that “Ram participated in the race and won” is explicit.

However, the conclusion that “There was at least one more person in the race with Ram” is implicit
as it is not directly mentioned in the statement but it is obvious that in a race (a contest of speed)
there"must be more than just one participant or it would not be a race.

DESCRIPTION OF THE TERMS INVOLVED
WHAT DOES “IMPLIED” OR “IMPLICIT” MEAN?

1. Usual Definition
A conclusion drawn is implicit, if it follows from the data given in the passage.

2. Detailed Interpretation

A statement is implicit if and only if there is no ambiguity regarding the conclusion drawn from the
data in the given passage. _

A statement cannot be implicit if there is any doubt regarding the conclusion drawn on the basis of
the given data.

3. Alternate Definition

Implicit statements are those that are suggested in the passage but not stated directly.
To understand these definitions let us take an example.

Example 1: “Sachin was not the captain of the Indian cricket team that won the tri-series in
Australia.”
This statement implies the following:

India has a cricket team.
There are players other than Sachin in the Indian cricket team.
Someone other than Sachin was the captain of the Indian cricket team.

There can be other implications also.

However, the statement does not imply the following:

Sachin can never be the captain of the Indian cricket team.
Sachin would be the best captain for the Indian cricket team.

Any conclusion drawn from the given data, is implied by that data.
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IMPLICIT STATEMENTS

I1I. MINI EXERCISE

1V

Consider the following passage:

Asoka was an Indian emperor, of the Maurya Dynasty who ruled from 273 BC to 232 BC. Often
cited as one of India’s greatest emperors, Asoka reigned over most of present-day India after a
number of military conquests.

A. India was ruled by emperors in the past.

This statement is implicit in the passage because it mentions that Asoka was one of India’s greatest
emperors. So it is obvious that India had been ruled by emperors in the past.

This is an example where you can say that the statement is implied because there is data that
supports the conclusion.

B. Asoka was successful in many military operations.

This statement is implicit in the passage above because Asoka could have ruled over most of
present-day India as given in the passage only if he was successful in several of the military
conquests mentioned.

This is an example where you can say that the statement is implied because it is apparent by
reasoning based upon the data from the passage.

C. Asoka was the founder of the Maurya dynasty.
This statement is not implicit because there is no data mentioned in the passage to support it.

This is an example where the statement is not implied because of lack of data.

@

D. Asoka was the only emperor to rule the complete region covered by modern day India.

This statement is not implicit because the data mentioned in the passage does not support it.

E. Asoka was not really a successful emperor because he failed to rule the complete region
covered by modern-day India.

This statement is not implicit because the data in the passage says that Asoka was considered one
of the greatest emperors, which makes this argument invalid.

SOLVED EXAMPLES

Directions: For the questions given below, a small passage is provided, followed by three conclusions.
You have to identify whether the statements are implicit in the given passage.

Example 2: The minister for agriculture has said that wheat production will once again increase
by more than 20 percent this year, ensuring that no person dies of starvation.

1. According to the minister, people may die of starvation in case there is insufficient wheat
production.

2.  Wheat production has increased by more than 15 percent at least once before this year.

3.  Wheat production this year is excellent because of the efforts put in by the minister for
agriculture.

(a) Only 1 is implicit. (b) 2and 3 are implicit. (c) 1 and 2 are implicit.
(d) All are implicit. (e) None are implicit.
Explanation: Firstly, it is extremely important to read the passage carefully and understand its

essence. This passage suggests that according to the minister for agriculture, wheat production is
going to increase by more than 20% which will save people from starvation.
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IMPLICIT STATEMENTS

Statement 1 is implicit because if increase in wheat production is going to ensure that no person
dies of starvation, then it is obviously implied that people will probably die if there is insufficient
production.

Do not consider any previous knowledge that you may have about the effect of wheat production
on the number of starvation deaths.

Statement 2 is implicit because the words “once again” in the passage suggest that wheat
production has increased by over 20% earlier. Hence, it is implied that it has increased by more
than 15% at least once earlier.

Statement 3 is not implicit because there is absolutely no relation between the minister’s efforts
and the wheat production mentioned in the passage. The minister’s announcement is not sufficient
to conclude this. Hence, this statement is not implied.

Hence, the correct answer is option c.

Example 3: The region of Bengal is one of the most densely populated regions on earth, with a
population density exceeding 900/sq.km. Most of the Bengal region lies in the low-lying Ganges-
Brahmaputra River Delta or Ganges Delta, the world's largest delta. In the southern part of the
delta lies the Sundarbans - the world’s largest mangrove forest and home of the Bengal tiger.

1.  Areas near river deltas have a very high population density.
2. Dense population is required for the growth of mangrove forests.
3. There are several river deltas smaller than the Ganges delta.

(a) Only 2 is implicit. (b) 1 and 3 are implicit. (c) 1 and 2 are implicit.
(d) All are implicit. (e) Only 3 is implicit.

Explanation: By reading the passage carefully you would observe that this passage touches on
four main points: Bengal is very densely populated, it lies in the largest delta of the world, the
Ganges delta region, it includes the Sundarbans which is the world’s largest mangrove forest, and it
is the home of the Bengal tiger.

Statement 1 is not implicit because there is no relation mentioned between the population density
of the place and the presence of mangrove forests. So, such a generalization cannot be made on the
basis of the passage. Coincidence of facts does not necessarily representa relationship on which to
base this statement as an implicit conclusion.

Hint: Here you can use the elimination technique. You can see that options (b), () and (d) are
eliminated as they include statement 1. Now you can concentrate on the other two statements.

Statement 2 is not implicit. The passage does not suggest the necessity of dense population for
mangrove forests. Just because the region mentioned in the passage shows both the characteristics
does not mean that one determines the presence of another.

Continuing the elimination you can now say that the answer can only be option (e).

Statement 3 is implicit because the passage mentions that the Ganges delta is the largest in the
world. This superlative adjective implies a comparison with other deltas in the world.

Hence, the correct answer is option e.

Example 4: Michelangelo was an Italian Renaissance painter, sculptor, architect, poet and
engineer. Despite making few forays beyond the arts, his versatility in the disciplines he took up
was of such a high order that he is often considered a contender for the title of the archetypal
Renaissance man, along with his rival and fellow Italian Leonardo da Vinci.

1. Michelangelo and Leonardo da Vinci were both excellent Renaissance painters.
2. Michelangelo was an extremely talented artist who excelled in most of his work.
3. Leonardo da Vinci is considered to be one of the leading figures of the Renaissance period.

(a) Only 1 is implicit. (b) 1 and 3 are implicit. (c) 2 and 3 are implicit.
(d) None are implicit. (e) Only 3 is implicit.
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IMPLICIT STATEMENTS

Explanation: Statement 1 is not implicit because even though it is stated in the passage that
Leonardo da Vinci was a leading Renaissance man, there is no mention of him being a painter. Be
careful of jumping to conclusions which might seem apparent. Read the passage carefully and
cross-check the data given with the conclusion made.

Statement 2 is implicit because the passage mentions that his versatility was of a high order and
that he was considered as a contender for the title of the archetypal Renaissance man. Combine
both these ideas and we can clearly infer that he was an artist of exceptional talent and excellent in
his work.

Here you can actually mark the answer directly by eliminating the options. The answer is clearly
option (c). This way you can save time as well as overcome confusion if any one statement is
ambiguous.

Statement 3 is implicit because the passage clearly states that he was considered for the title of the
archetypal Renaissance man.
Hence, the correct answer is option c.

V. SUMMARY

¢ Read the passage carefully and understand the essence of the passage before going on to the
conclusions.

e A statement is implicit if it follows from the data given in the passage. There should be no
ambiguity regarding the conclusion drawn with reference to the statements in the passage.

¢ Be careful not to use any prior knowledge about the subject matter. Assess the conclusion only
with reference to the data given in the passage.

e Do not jump to conclusions based on apparent data. Cross-check the facts given in the passage
before deciding if a statement is implicit or not.

Tz=sT1

Directions for questions 1 to 6: Read the following passages and answer the item that follows. Your
answer to this item should be based on the passage only.

PAssAGE 1: The Indian judicial system belongs firmly to the English common law tradition. This is
potentially an important strength for a country that is undergoing rapid change. In a civil law system
it would be almost impossible for the government and the legislature to constantly update and co-
ordinate a huge body of laws and sub-laws. Indeed, it may be easier to create a completely new body
of law as China has been attempting to do since 1978. However, even this does not solve the problem
because in a rapidly developing country the new laws themselves may become outdated very quickly
and need to be replaced. The effort of coordinating these changes through the mass of laws and by-
laws is great, especially if the changes are constantly subject to democratic scrutiny. India can
potentially use its judicial system to percolate reforms through the economic system. Once a general
principal has been established by policymakers or the legislature, other rules can be changed on an
on-going basis as and when disputes are brought to the courts. In other words, a good judicial system
can be an active agent of change in India rather than just a passive enforcer.

1. Why has it been implied that a good judicial system can be an active agent of change?

1. The common law can easily create a completely new body of law for a country that is
undergoing rapid change.

2. The Indian judicial system is based on the English common law tradition.

3. The Indian judicial system can update and co-ordinate the body of laws and sub-laws.

(a) Only 2 (b) Only 3 (c)1and3 (d)1,2and 3

PASSAGE 2: Chemical pesticides lose their role in sustainable agriculture if the pests evolve resistance.
The evolution of pesticide resistance is simply natural selection in action. It is almost certain to
occurs when vast numbers of a genetically variable population are killed. One or a few individuals
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may be unusually resistant (perhaps because they possess-an enzyme that can detoxify the
pesticide). If the pesticide is applied repeatedly, each successive generation of the pest will contain a
larger proportion of resistant individuals. Pests typically have a high intrinsic rate of reproduction,
and so a few individuals in one generation may give rise to hundreds or thousands in the next, and
resistance spreads very rapidly in a population

This problem was often ignored in the past, even though the first case of DDT
(dichlorodiphenyltrichloroethane) resistance was reported as early as 1946. There is exponential
increase in the numbers of invertebrates that have evolved resistance and in the number of
pesticides against which resistance has evolved. Resistance has been recorded in every family of
arthropod pests (including dipterans such as mosquitoes and house flies, lice and mites) as well as in
beetles, moths, wasps, fleas, lice and mites) as well as in weeds and plant pathogens. Take the
Alabama leafworm, a moth pest of cotton, as an example. IT has developed resistance in one or more
reions of the world to aldrin, DDT, dieldrin, endrin, lindane and toxaphene.

If chemical pesticides brought nothing but problems, - if their use was intrinsically and acutely
unsustainable - then they would already have fallen out of widespread use. This has not happened.
Instead, their rate of production has increased rapidly. The ratio of cost to benefit for the individual
agricultural producer has remained in favour of pesticide use. In the USA, insecticides have been
estimated to benefit the agricultural products to the tune of around $5 for every $1 spent.

Moreover in many poorer countries, the prospect, of imminent mass starvation, or of an epidemic
disease, are so frightening that the social and health costs of using pesticides is justified by objective
measures such as ‘lives saved’, ‘economic efficiency of food production’ and ‘total food produced’. In
these very fundamental senses, their use may be described as sustainable. In practice, sustainability
depends on continually developing new pesticides that keeps at least one step ahead of the pests -
pesticides that are less persistent, biodegradable and more accurately targeted at the pests.

2. “The evolution of pesticide resistance is natural selection in action.” What does it actually imply?

(a) Itis very natural for many organisms to have pesticide resistance.

(b) Pesticied resistance among organisms is a universal phenomenon.

(c) Some individuals in any given population show resistance after the application of
pesticides.

(d) None of the options (a), (b) and (c) given above are correct.

PAssaGe 3: The Chipko movement though primarily a livelihood movement rather than a forest
conservation movement, went on to become a rallying point for many future environmentalists,
environmental protests and movements the world over and created a precedent for non-violent
protest. It occurred at a time when there was hardly any environmental movement in the developing
world, and its success meant that the world immediately took notice of this non-violent “tree
hugging” movement, which was to inspire in time many such eco-groups by helping to slow down the
rapid deforestation, expose vested interests, increase ecological awareness, and demonstrate the
viability of people power. Above all, it stirred up the existing civil society in India, which began to
address the issues of tribal and marginalized people.

Today, beyond the eco-socialism hue, it is being seen increasingly as an eco-feminist movement.
Although many of its leaders were men, women were not only its backbone, but also its mainstay,
because they were the ones most affected by the rampant deforestation, which led to a lack of
firewood and fodder as well as water for drinking and irrigation. Over the years they also became
primary stakeholders in a majority of the afforestation work that happened under the Chipko
movement.

3. The passage states that Chipko movement was an eco-feminist movement. What does it imply?

(a) Chipko movement was aimed at women empcwerment.

(b) All the important positions in the movement were occupied by men.

(c) The women formed the basis of the movement since they were the most affected people.
(d) Only the women in the region were sensitive to the surrounding environment and its needs.
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PAssAGE 4: 'Open government' has two aspects; one, clarity of law so that there is no ambiguity about
what conduct is permitted and what is prohibited and two, the extent to which the process by which
the laws are enacted and enforced is fair. The latter includes the opportunity to participate in the
process by which laws are made and administered, i.e., it looks at whether people have the right to
petition the government and whether records of legislative and administrative proceedings and
other kinds of official information are available to the public. We do fairly well here, which is why
despite the general mood of despondency over the virtual collapse of governance and rising
corruption, the overall picture is less bleak than what one might otherwise suppose.

Government and its officials are accountable under the law. Laws are clear, well-publicized, stable
and fair and protect fundamental rights. The process by which the laws are enacted and enforced is
accessible, fair and efficient. Access to justice is provided by a sufficient number of competent,
independent, and ethical adjudicators who have adequate resources and reflect the views of the
community. The reality is the rule of law affects all of us in our everyday lives. Every section of
society is a stakeholder; so when government ignores the voice of civil society, it does so at its peril.

4. “When government ignores the voice of civil society, it does so at its peril”. What is implied by
this?

(a) If the government does not consider public opinion, it risks its stability.

(b) The voice of the civil society is the main reason of the instability of the governments.

(c) The disregard of the public opinion by the government leads to the collapse of the voice of
the civil society.

(d) The public opinion is the driving force for all the governments.

PASSAGE 5: | came reluctantly to the conclusion that the British connection had made India more
helpless than she ever was before, politically and economically. A disarmed India has no power of
resistance against any aggressor if she wanted to engage, in an armed conflict with him. So much is
this the case that some of our best men consider that India must take generations, before she can
achieve Dominion Status. She has become so poor that she has little power of resisting famines.
Before the British advent India spun and wove in her millions of cottages, just the supplement she
needed for adding to her meager agricultural resources. This cottage industry, so vital for India’s
existence, has been ruined by incredibly heartless and inhuman processes as described by English
witness. Little do town dwellers know how the semi-starved masses of India are slowly sinking to
lifelessness. little do they know that their miserable comfort represents the brokerage they get for
their work they do for the foreign exploiter, that the profits and the brokerage are sucked from the
masses. Little do they realize that the Government established by law in British India is carried on for
this exploitation of the masses? No sophistry, no jugglery in figures, can explain away the evidence
that the skeletons in many villages present to the naked eye. I have no doubt whatsoever that both
England and the town dweller of India will have to answer, if there is a God above, for this crime
against humanity, which is perhaps unequalled in history. The law itself in this country has been used
to serve the foreign exploiter.

5. What does the author imply by ‘the profits and the brokerage are sucked from the masses’?

(a) The profit is being generated due to the mass production of goods in the industry.

(b) The industries generate profits by taking a share of income from the common man of India.

(c) The profits generated by British rule has affected cottage industries on which Indian
masses depended.

(d) The masses of India have a share in the profits of the industries.

PASSAGE 6: A species that exerts an influence out of proportion to its abundance in an ecosystem is
called a keystone species. The keystone species may influence both the species richness of
communities and the flow of energy and materials through ecosystems. The sea star Pisaster
ochraceus, which lives in rocky intertidal ecosystems on the Pacific coast of North America, is also an
example of a keystone species. Its preferred prey is the mussel Mytilus californianus.In the absence of
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sea stars, these mussels crowd out other competitors in a broad belt of the intertidal zone. By
consuming mussels, sea star creates bare spaces that are taken over by a variety of other species

A study at the University of Washington demonstrated the influence of Pisaster on species richness
by removing sea stars from selected parts of the intertidal zone repeatedly over a period of five
years. Two major changes occurred in the areas from which sea stars were removed. First, the lower
edge of the mussel bed extended farther down into the intertidal zone, showing that sea stars are
able to eliminate mussels completely where they are covered with water most of the time. Second,
and more dramatically, 28 species of animals and algae disappeared from the sea star removal zone.
Eventually only Mytilus, the dominant competitor, occupied the entire substratum. Through its effect
on competitive relationships, predation by Pisaster largely determines which species live in these
rocky intertidal ecosystems.

6. Which of the following is/are implied by the passage?

1. Mussels are always hard competitors for sea stars.
2. Sea stars of the Pacific coast have reached the climax of their evolution.
3. Sea stars constitute an important component in the energy flow intertidal ecosystem.

Which of the statements given above is/are correct?

(a1and 2 (b) 2 only (c)1and3 (d) 3 only

Instruction for question 7: Each main statement is foliowed by three conclusions. For each
conclusion, independently, mark option (a) if it is implicit in the main statement, and option (b), if it
is not implicit in the main statement.

Statement for question 7: The coach of the Indian cricket team has decided to drop senior players
from the team.

7. The coach of the Indian cricket team does not think that the senior players can contribute as
much as the juniors.

Directions for questions 8 and 9: Read the following passages and answer the item that follows.
Your answer to this item should be based on the passage only.

PassAGE 1: Chemical pesticides lose their role in sustainable agriculture if the pests evolve resistance.
The evolution of pesticide resistance is simply natural selection in action. It is almost certain to
occurs when vast numbers of a genetically variable population are killed. One or a few individuals
may be unusually resistant (perhaps because they possess an enzyme that can detoxify the
pesticide). If the pesticide is applied repeatedly, each successive generation of the pest will contain a
larger proportion of resistant individuals. Pests typically have a high intrinsic rate of reproduction,
and so a few individuals in one generation may give rise to hundreds or thousands in the next, and
resistance spreads very rapidly in a population.

This problem was often ignored in the past, even though the first case of DDT
(dichlorodiphenyltrichloroethane) resistance was reported as early as 1946. There is exponential
increase in the numbers of invertebrates that have evolved resistance and in the number of
pesticides against which resistance has evolved. Resistance has been recorded in every family of
arthropod pests (including dipterans such as mosquitoes and house flies, lice and mites) as well as in
beetles, moths, wasps, fleas, lice and mites) as well as in weeds and plant pathogens. Take the
Alabama leafworm, a moth pest of cotton, as an example. IT has developed resistance in one or more
reions of the world to aldrin, DDT, dieldrin, endrin, lindane and toxaphene.

If chemical pesticides brought nothing but problems, - if their use was intrinsically and acutely
unsustainable - then they would already have fallen out of widespread use. This has not happened.
Instead, their rate of production has increased rapidly. The ratio of cost to benefit for the individual
agricultural producer has remained in favour of pesticide use. In the USA, insecticides have been
estimated to benefit the agricultural products to the tune of around $5 for every $1 spent.
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Moreover in many poorer countries, the prospect, of imminent mass starvation, or of an epidemic
disease, are so frightening that the social and health costs of using pesticides is justified by objective
measures such as ‘lives saved’, ‘economic efficiency of food production’ and ‘total food produced’. In
these very fundamental senses, their use may be described as sustainable. In practice, sustainability
depends on continually developing new pesticides that keeps at least one step ahead of the pests -
pesticides that are less persistent, biodegradable and more accurately targeted at the pests.

8. What does the passage imply?

(a) Alternatives options to chemical pesticides should be promoted.

(b) Too much use of chemicals is not goods for the ecosystem.

(c) There is no scope for the improvement of pesticides and making their use sustainable.
(d) Both the options (a) and (b) above are correct.

PAssAGE 2: The poor especially in market economies, need the strength that collectivities offer for
creating more economic, social and political space for themseives, for enhancing their socio-
economic well-being and voice, and as a protection against free market individualism. It has been
argued that a group approach to farming, especially in the form of bottom up agricultural production
collectivities, offers substantial scope for poverty alleviation and empowering the poor as well as
enhancing agricultural productivity. To realize this potential, however, the groups would need to be
voluntary in nature, small in size, participative in decision making and equitable in work sharing and
benefit distribution. There are many notable examples of such collectivities to be found in varied
contexts, such as in the transition economies. All of them bear witness to the possibility of successful
cooperation under given conditions. And although the gender impact of the family cooperatives in
the transition economies are uncertain, the Indian examples of women-only groups farming offer
considerable potential for benefiting women.

9. What does the author imply by “gender impact”?

(a) Women are doubtful participants in cooperatives.

(b) Family cooperatives may not include women.

(c) Women benefiting from group farming.

(d) Women’s role in transition economies is highly restrictive.

Directions for question 10: Each main statement is followed by three conclusions. For each
conclusion, independently, mark option (a) if it is implicit in the main statement, and option (b), if it
is not implicit in the main statement.

Statement for questions 10: It is very important to use original software for security reasons.

10. Using software that is not original may cause a security threat.

Directions for question 11: Answer question based on the passage given below.

There is a stillness and everlastingness about the past; it changes not and has a touch of eternity, like
a painted picture or a statue in bronze or marble. Unaffected by the storms and upheavals of the
present, it maintains its dignity and repose and tempts the troubled spirit and the tortured mind to
seek shelter in its vaulted catacombs. There is peace there and security, and one may even sense a
spiritual quality. But it is not life, unless we can find the vital links between it and the present with all
its conflicts and problems. It is a kind of art for art's sake, without the passion and the urge to action
which are the very stuff of life. Without that passion and urge, there is a gradual oozing out of hope
and vitality, a settling down on lower levels of existence, a slow merging into non-existence. We
become prisoners of the past and some part of its immobility sticks to us. This passage of the mind is
all the easier in prison where action is denied and we become slaves to the routine of jail-life.

11. The writer implicitly compares the past to which of the following ideas?

(a) Bronze and marble (b) Change and upheavals
(c) Passion and urge and vitality (d) Stillness and death
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Instructions for question 12: A Conclusion is drawn from the main paragraph in each question.
Mark option: (a) if the statement is implicit, (b) if the statement is not implicit.

12. ]. K. Rowling created Harry Potter because she was inspired by magic as a child.
Conclusion: ] K. Rowling attended many magic shows when she was young.

Directions for question 13: Answer the question based on the passage given below.

We started pitching the highest camp that has ever been made. Everything took five times as long as
it would have taken in a place where there was enough air to breathe; but at last we got the tent up,
and when we crawled in, it was not too bad. There was only a light wind, and inside it was not too
cold for us to take off our gloves. At night most climbers take off their boots; but I prefer to keep them
on. Hillary, on the other hand, took his off and laid them next to his sleeping bag.

13. What does the expression “pitching the highest camp” imply?

(a) They reached the summit of the highest mountain in the world.
(b) Those who climbed that far earlier did not pitch any camp.

(c) Sofar nobody has ever climbed that high.

(d) They were too many climbers and needed to pitch a big camp.

Instructions for questions 14 and 15: There are three conclusions drawn from the main statement
in each question. Choose the option that states the ones that are implicit.

14. Most private banks have been providing advanced mobile and internet technology services to
their customers for making payments.

1. Most private banks think that technology is the most important service for customers.
2. Government banks do not provide advanced technology services to their customers.
3. Some customers of private banks know how to use the internet and mobile services to make

payments.
(a) Only 2 is implied. (b) Both 1 and 2 are implied.
(c) All the statements are implied. (d) None of the statements are implied.

(e) Only 3 is implied.

15. Most Indians prefer watching cricket rather than any other sport.

1. Sports other than cricket do not have any viewers in India.

2. InIndia, cricket may have the highest rates for advertising as compared to any other sports
action on TV.

3. India will win the next cricket world cup.

(a) Only 1 and 3 are implied. (b) Only 3 is implied. (c) Oniy 1 and 2 are implied.
(d) Only 2 is implied. (e) None of the statements are implied.
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? Critical Reasoning

L.

IL

INTRODUCTION

Many entrance examinations include critical reasoning questions in various forms, which usually
comprise a short paragraph followed by questions on: conclusions; assumptions; inferences; and
strengthening or weakening arguments, related to the given paragraph.

Other question types like “Fact, Inference and Judgment”, “Probably/Definitely, True or False”,
“Course of Action”, “Cause- Effect” and “Syllogisms” are a!so included under the category of critical
reasoning.

To solve these questions it is important to understand the context of the paragraph from which
they are asked.

DETAILED DESCRIPTIOK

“Critical Reascning” implies arriving at a logical conclusion after a careful evaluation of all relevant
data and assumptions.

The type of questions based on critical reasoning usually have a small passage on the basis of
which certain questions are asked. This question type is used to evaluate your ability to think
logically and draw inferences, derive conclusions or make judgments on the basis of given data.

Let us first take a look at the important terms involved in solving these types of questions. Viz:

A. Premise B. Assumption C. Inference D. Conclusion

A. PREMISE

Definition: “A premise is a statement that is assumed to be true and from whick a conclusion can
be drawn.”

A premise is the basis of an argument. There cannot be any argument without a premise on which
it is based. However, there can be more than one premise on which an argument is based.

Example 1: “Unfit players hamper the progress of the entire team. That is the reason Viru should
not be selected in the team.”

Here the premise is that “Unfit players hamper the progress of the entire team” and the
subsequent argument is based on this premise.

B. ASSUMPTION
Definition: “An assumption is a statement which can be either true or false, but is accepted as true
only for the purpose of the argument which foilows.”

An assumption is that which, although bearing no explicit mention, is taken ior granted and on the
basis of which a conclusion is drawn.

Using the same example as given above:

“Unfit players hamper the progress of the entire team. That is the reason Viru should not be
selected in the team.” ‘

In this case the assumption is that “Viru is unfit” even though it is not explicitly mentiored; and,
witheut this assumption the argument falls apart.

C. INFERENCE

Definition: “A logical process of drawing conclusions from a collection of data and relationships
between data and potential conclusions.”
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An inference is logically derived on the basis of factual data, which along with the assumptions
leads to the conclusion.

Using the same example as given above:

“Unfit players hamper the progress of the entire team. That is the reason Viru should not be
selected in the team.”

In this case, “Viru is going to hamper the entire team” is an inference based on the premise that
unfit players hamper the team and on the assumption that Viru is unfit.

Other inferences can also be made like: “Viru was considered for the selection of the team” or “Viru
wanted to be part of the team”. Such statements though not explicitly mentioned can also be
logically derived.

D. CONCLUSION

Definition: “A conclusion is a final proposition, which is arrived at after the consideration of
evidence, assumptions or premises.”

A conclusion is what the author of an argument arrives at following the premise, the data given, the
assumptions made and the inference drawn.

Using the same example as given above:
g

“Unfit players hamper the progress of the entire team. That is the reason Viru should not be
selected in the team.”

In this case, “Viru should not be selected in the team” is the conclusion.
To understand these concepts better let us take another example.
Consider the following argument:

“Recruitment managers dislike candidates who are not punctual and who arrive late for
interviews. Hence, it is unlikely that Ram will be selected for the job today.”

In this case the premise is: “Recruitment managers dislike candidates who are not punctual and
who arrive late for interviews.”

The assumption is: “Ram was late for the interview.”
The inference drawn is: “The recruitment manager will probably dislike Ram because he was late.”

The conclusion drawn is: “Ram will not be selected for the job.”

COMMON FLAWS IN CRITICAL REASONING

To solve critical reasoning questions, one should not only keep in mind the structure of any
argument presented above but also keep in mind the most common flaws in reasaning.

A. ASSOCIATION-CAUSATION FLAW

The Association-Causation Flaw refers to thinking that an event is the cause of another merely
because it precedes the other event chronologically.

Questions based on this principle try to lead you into erroneously thinking that, an event or action
led to another merely because of the sequence in which they appeared, thus giving rise to the
Association-Causation Flaw.

The sequence of events or chronology is not a criterion for determination when there is actually no
cause-effect relationship. In Critical reasoning, the knowledge of this common flaw can be used to
correctly assess an argument and by keeping this principle in mind “Cause-Effect” type questions
can be solved quite easily.

Example 2: Consider the statement:
“India got independence after the end of the second World War.”
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If a conclusion is drawn from this statement- “India got independence because of the second
World War. “ - then it is faulty because even though Indian independence chronologically follows
the Second World War there is no cause-effect relationship in the given statement.

B. COMPOSITION FLAW

This refers to thinking that something that applies to one particular action, event or situation is
also applicable to other actions, events or situations in general. Difficult reasoning questions
usually encourage you to make this mistake. You should always carefully check a critical reasoning
question to see whether the example presented can be considered representative of the general
population; i.e. you should verify whether you can logically extrapolate from the given example to
the general.

Example 3: Consider the statement:

“Today’s Physics test was very difficult.”

If a conclusion is drawn from this statement that- “Physics is generally a difficult subject for most
students”- then it is faulty because you cannot extrapolate the difficulty of Physics as a subject in
general on the basis of one test.

C. FALLACY OF ANALOGY

This refers to thinking that the line of reasoning used in one scenario applies to another scenario
by assuming that all other parameters remain the same. You should be careful to compare the two
scenarios to see whether there is a subtle change in the situation which makes the parallel
reasoning inappropriate. The important thing in this case is to identify what exactly causes the
difference between the two similar scenarios. In Critical reasoning it is also extremely important to
avoid over-analyzing an argument.

Example 4: Consider the statement:

“Students who study for eight hours a day are successful in the examination. So sportsmen who
want to win tournaments should practice for eight hours every day.”

This argument is faulty because the reasoning for success in studies cannot be applied directly to
sports which can have many other considerations.

D. RED HERRING

This refers to being diverted from the actual argument by some topic which seems relevant but is
actually not related to the argument at hand. Difficult questions in critical reasoning try to throw
you off track by introducing concepts which trap you into thinking on the basis of what you already
know rather than sticking to the information given.

Example 5: Consider the statement:

“People who do not want to pay Income Tax according to the law should not be forced because the
Government has other sources of revenue which it can use to cover up the deficit.”

This is faulty because the law should be enforced regardless of whether the Government can cover
up the deficit caused by people breaking the law.

E. ARGUMENTUM AD POPULUM

This refers to the assumption that a particular argument is valid because many people think so.
This reasoning is improper because the opinion of many people is not a criterion to determine the
actual validity of any argument.

Example 6: Consider the statement:

“The claim made by environmental agencies about the adverse effects of global warming is not
valid because most of the people in India say that they do not feel there is any difference in the
climate and they are not affected by it.”
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V.

This argument is faulty because the opinion of the people cannot determine the validity of an
argument which is based on scientific facts.

F. NON SEQUITUR

This refers to making an argument by stating a conclusion after presenting the premise even
though the conclusion cannot be logically drawn from the premise.

Example 7: Consider the statements:

“It is difficult for sportsmen, especially cricketers to play continuously for many months at a
stretch. Therefore, we must build a sports academy which trains many more sportspeople.”

This is faulty because the conclusion drawn does not follow from the stated premise.

G. FAULTY APPFAL TO AUTHORITY

This refers to using the views of a person or organization specializing in one field to support an
argument in another. This fallacy can be identified when authority which is referred to in an
argument is not an expert in the subject being discussed in that argument.

Examunle 8: Consider the statements:

“I1¢ famous actor Salman has invested a lot of inoney in the stock market. The stock market must
be goro siing a very good return on investment.”

This argament is faulty because the actor’s judgment in the field of stocks cannot be taken as a
basis for saying that the stock market will generate good returns.

GENERAL QUESTION PATTERN

Critical Reasoning questions usually contain a short passage and the question that follows is based
on the passage and is inferential.
The types of questions usually asked in this section are as follows:

A. Identifying the conclusion
The conclusion that can b« *~~wn on the basis of the inference in the given passage is selected.

B. Identifying the as.sumge a
Choose the assumption mie: tiviied in the given passage used by the author, to draw the conclusion.

C. ldentiiying a strengthening argument
The statement which most strongly supports the argument in the given passage is chosen.

D. Identifying a weakening argument
The statement which undermines or weakens the argument in the given passage is selected.

E. Parallel reasoning
A pattern of reasoning from the options given which is similar to the reasoning in the given
passage is identified.

MIN! EXERCISE

Many more regional non-bollywood films are now being produced in India as compared to a few
years ago. The effort put into making regional films has probably become worthwhile because the
reduction in tax on regional films put into effect by the government makes regional films more
affordable for the viewer. This is because the government wants to promote regional culture that
may get lost in the age of commercial cinema. However, only this policy might not be enough to
stop the decline of regional art forms which continue to flounder.

A. Is the author likely to reach the following conclusion?

1. The government needs to put additional measures in place to protect and promote regional
forms.
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You can see that the author presented the premise of the argument which says that regional films
are becoming more affordable because of the tax relief. However, from the last statement it is likely
that the author has made an assumption that the reason for decline in regional art forms is more
complex. The author says “only this policy might not be enough”. So it is likely that the author will
go towards the above conclusion.

B. Isthe author likely to reach the following conclusion?
1. Commercial movies may suffer as a result of the government policy.

The author says that this is the age of commercial cinema. One can infer that commercial cinema is
in a very strong position. The author also says that the policy might not create a noticeable
advantage for regional films. Hence the author is unlikely to go towards the above conclusion.

C. Is the following statement, if true, likely to strengthen the argument about regional films
becoming more affordable?

1. Tax relief for regional films makes them more profitable and draws better talent in terms of
actors and technicians.

Tax relief makes movies profitable and better actors and technicians can be hired due to increase
in profits. As the quality of actors and technicians increases so will the quality of the film. If profits
increase then it is possible for the film-maker to make the tickets available at affordable rates.
Reduced taxes mean lower ticket costs. Therefore, the film is profitable to the film-maker and
affordable for the viewer. Hence, this statement if true is likely to strengthen the argument about
regional films becoming more affordable in the passage.

D. Is the foliowing statement, if true, likely to weaken the argument about regional films
becoming more affordable in the passage?

1. Fifms do not reflect regional cuiture.

The government is reducing taxes on regional films in an effort to promote regional culture. If the
above statement is true, and films do not reflect culture, then there would be no use subsidizing
these films. Therefore, the statement is likely to weaken the argument in the passage.

E. Has the author made the following assumption in the passage?
1. The quality of regional films is extremely poor.

The author follows the line of reasoning which says that the tax relief provided by the government
will make regional films affordable and hence promote regional films. There is no mention that
regional art forms have declined because of poor quality. Hence the author is not likely to have
made this assumption.

VI. SOLVED EXAMPLES

1. Companies selling expensive consumer durables like televisions or refrigerators increase
their advertising expenditure during the festival season. They usually declare several
promotional schemes or offer heavy discounts to attract buyers who traditionally shop for
such expensive items on auspicious festival days.

What can you conclude from the above passage?

(a) People buy refrigerators and televisicns only on auspicious days in the festival season.

(b) Advertising expenditure in the non-festival season is extremely low.

(c) People expect consumer durable companies to offer heavy discounts during the festival
season.

(d) Consumer durable companies consider the festival season to be a very important period
for increasing sales.

(e) Advertising rates during the festival season are much higher as compared to other times
of the year.
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Explanation: On reading the passage you can see that it describes the efforts taken by the
consumer durable companies to attract buyers during the festival season.

Option (a) cannot be concluded because the passage just mentions that some buyers
traditionally shop on auspicious days. This cannct be generalized so as to make it applicable
tc all people.

Option (b) cannct be concluded because there is no way of assessing the degree of spending
during the non-festival period on the basis of the given information that some companies
increase their advertising spends during the festival season.

Option (c) may be true but it cannot be concluded as there is ne information regarding the
view of people in general in relaticn to the strategy of the companies to offer discounts.

Option (d) is a reasonable conclusion that can be drawn on the basis of the given passage. If
the companies are making the special efforts mentioned in the passage, then it can be
concluded that they consider the festival season very important.

P

Gytion (e) cannot be concluded as there is no data to support it in the given passage.

Hence the correct answer is option d.

neering students who will complete their graduation this year will find it difficuit to get
=4 to the advanced technology being used in the corporate world. The university which
desizns the engineering course should concentrate on upgrading the infrastructure and
improving the quality of teaching to meet industrial standards.

ds

Which of the following assumptions does the above argument make?

(a) There are more engineering students than job openings this year.
(b) The engineering students graduating this year are not very determined or intelligent.
.{c) The infrastructure and teaching faculty currently available for engineering students is
not up to corporate technological standards.
(d) Engineering students wiil probably pursue management education instead of taking up

jobs.
(e) The university is ~<t ‘nterested in the welfare of the students.
Explanation: A - “sumr o s comething that has been taken for granted while making the

argument. In the above =::i.ment the premise is that engineering students this year will find
adjusting to the corpuorate werid difficuit. On the basis of this premise and some assumptions
the author draws a conclusion about the measures the university should take.

In this case it is obvious that option {c) is the most probable assumption that the author may
have made to arrive at the given conclusion since it is directly related to the action suggested
by the author. .

Opticns (a) and (d) are not relevant to the argument about the students not being able to
adjust or the course of action for the university.

Option (b) may be true; however, if the author had made this assumption then the suggested
course of action would not have been related to the university upgrading infrastructure and
teaching. So option (b) cannot be the correct answer.

Option (e) cannot be the assumiption made because it does not support the argument which
states what the university should do on the basis of the current problerm.

Hence, the correct answer is option c.

IT companies are finding it difficult to retain employees with average attrition rates in the
industry being as high as fifty percent per year. They should immediately double the salaries
of all their employees to increase employee retention.

Which of the following, if true, most strengthens the above argument?

(a) Profits of IT companies have increased and they can afford the pay hike.
{b) A survey shows that most employees in the IT industry change jobs because of low
salaries.
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(c) Employees care more about the work environment than'salaries.
(d) Salaries in the field of medicine are much higher than in IT.
(e) Higher work pressure makes it necessary for most employees in IT to work overtime.

Explanation: In the above passage the author makes the argument that IT companies should
double salaries of employees to reduce attrition which is very high.

Option (b) will most strengthen the argument because it says that the most important reason
for high attrition is low salaries. If this is the case, then the argument proposed by the author
would be very relevant and strong.

Options (c) and (d) are not relevant to the argument made. Hence, they can be eliminated.
Option (a) is appropriate; however it does not strengthen the argument much. Just because
the IT companies can afford a pay hike is not a valid reason to implement it since it does not
say whether the pay hike will actually help.

Option (e) does support the argument but it is not as strong as option (b).

Hence the correct answer is option b.

4. To qualify for the Olympics any team needs to be extremely fit. That is the reason why the

Indian hockey team failed to qualify for the Olympics at Beijing.

Which of the following, if true, most weakens the above argument?

(a) The coach of the Indian hockey team was not skilled enough to train the team.

(b) The Indian hockey team actually did not have the ambition to win an Olympic medal.

(c) The Indian hockey team was certified to be completely fit by an independent medical
consultant and a qualified physiotherapist.

(d) The administrative body responsible for hockey is run in a completely unprofessional
fhanner.

(e) The India hockey team suffered from several bad decisions by the field umpires.

Explanation: In the above argument, the premise is that any team needs to be extremely fit to

qualify for the Olympics. The author has made an assumption that the Indian team was not fit

and concluded that this is the reason for the Indian hockey team not qualifying for the

Olympics.

Option (c) directly attacks the assumption made by the author. If option (c) is true then the

Indian team not being fit cannot be the reason why it did not qualify. Thus by negating the

assumption, option (c) weakens the argument.

Options (a), (b), (d) and (e) offer alternative reasons for the Indian team not qualifying.

However none of them weakens the argument made by the author.

Hence, the correct answer is option c.

5. Most Indians are not interested in learning Japanese, while some are interested in learning

German. Hence, Indians have more interest in the West rather than the East.

Which of the following is analogous to the logic provided above?

(a) Some Bengalis are not interested in Western Classical whereas most Bengalis are
interested in folk music. Hence, Bengalis have more interest in the Classical music.

(b) Some cricketers are not interested in learning baseball, while most cricketers are
interested in learning football. Hence, cricketers have a liking for football games.

(c) Most hockey players are interested in Olympics while some of those are interested in
Asian games. Hence Indians have more interest in Olympics.

(d) Most tribals are not interested in classroom studies, while some are interested in
learning from their elders. Hence, tribals have more interest in education from elders
than the universally accepted mode of school education.

(e) All the Indians in the US have made it big, some of them are returning to India. Hence,
Indians from US find India more attractive than US.
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Explanation: The main data draws conclusion on ALL Indians based on interest of SOME
Indians and lack of interest of MOST Indians. '

In option (a), the line of reasoning is the opposite of that in the main argument. To be parallel,
the logic should have been that Bengalis have more interest in folk music.

Option (b) does not draw comparison in the concluding statement between cricketers interest
in learning football over baseball. In option (c), the premise talks about hockey players and
the conclusion is on Indians. Therefore, option (c) is incorrect.

In option (e), the reasoning provided does not have the ‘MOST NOT' reasoning provided in the
main data.

The reasoning in option (d) is parallel to the main argument. Conclusion is drawn for ALL
tribals based on what MOST are not interested in and what SOME are interested in. It is the
same line of reasoning used in the main data.

Hence, the correct answer is option d.

TEST1

Instructions for questions 1 to 10: Answers the following questions based on the information given
below

1.

Conflicts may arise if there is a mismatch between the boss' expectations and the subordinate's
understanding of these. "If the boss is unable to clearly state the deliverables, the employee
should make an effort to seek clarity," said the Head HR of a top organisation.

Which of the following is an assumption made by the Head HR?

(a) The Boss is responsible for his employees’ understanding the organisational goals.

(b) The employee is not allowed to discuss his problems with his superiors.

(c) 1fthe boss lacks managerial skills, the targets are bound to suffer.

(d) Ideally, all employees know their targets and are free to discuss them with their superiors.

A calorie is a calorie, and You are what you eat. As a result, the diet food industry in India is now
a Rs 20,000 crore business compared to a minuscule number 3 decades earlier.

Which of the following statements can be concluded?

(a) The food industry is solely responsible for increasing bills worldwide.

(b) We should change our diet with the changing times in order to stay healthy.

(c) Indians are more diet conscious today.

(d) Inflation has made food more expensive compared to what it was 3 decades earlier.

India now has the highest statutory corporate-income tax rate among developing countries
which is worrying news. Even after various deductions, credits, and other tax breaks, the
effective marginal rate - the rate that corporations pay on new investments - remains one of the
highest in the world. This is in spite of the fact that research has shown that a high corporate-tax
rate is an ineffective and costly tool for producing revenues, owing to innovative financial
transactions and legal tax-avoidance mechanisms.

Which of the following statements can greatly strengthen the argument 'ineffective and costly
tool'?

(a) The policy has led to a phenomenal increase in revenue earnings for the government.
(b) With the right amount of incentives, this policy can save the Indian economy.

(c) Loss of employment and low revenue is due to this high tax rate policy in India.

(d) Any decrease in tax rates can result in a crash of the Indian economy.

Brazilian President Dilma Rousseff has vetoed parts of a controversial bill which regulates how
much land farmers must preserve as forest. Among the 12 articles which President Rousseff
rejected is amnesty for illegal loggers. Brazil's farmers' lobby had argued that an easing of
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environmental restrictions would promote food production. Environmentalists oppose the law,
which they say will lead to further destruction of the Amazon rainforest, an important ecological
and green resource for a world combating pollution.

Which of the following statements best describes the assumption made in the passage?

(a) Overharvesting has led to lack of food resources for the world population.
(b) The Amazon plays an important role in fighting global warming.

(c) Deforestation has led to poor quality of cocoa preduction.

(d) The Government's decisions are influenced by the farmers’ lobby in Brazil.

Dr. Allan Pacey, senior lecturer in androlegy at the University of Sheffield, said there was
"certainly a need” for a non-hormonal contraceptive for men and that this had been a "Holy
Grail" of research for many years. He added: "The key in developing a non-hormonal
contraceptive for men is that the molecular target needs to be very specific for either sperm or
other cells in the testicle which are involved in sperm production. If they are not, then such a
contraceptive could have unwanted side effects on other cells and tissues in the body and may
even be dangerous.”

Which of the following statements is in sync with data provided in the passage?

(a) Scientists have isolated the hormones in the ovary that can act as a contraceptive.

(b) Male contraceptives will never be made the way they should be.

(c) Scientists are trying to develop male contraceptives keeping religious sentiments in mind.
(d) Male contraceptives have to be able to target only specific cells to avoid side effects.

The rate of question paper leaks in Mumbai is up by a whopping 90 percent from last year. The
leak springs from the office of the Vice-Chancellor, according to some students. They claim that
the VC has never launched a private investigation into the leaks, and neither has he reprimanded
any one.

The argument above would be weakened if it were true that:

(a) 40 percent of the leaks turned out to be of incorrect papers

(b) The Vice-Chancellor was out of town while the examinations were being conducted.

(c) The VC has been holding meetings with his staff members and has also appointed a private
detective team.

(d) Reprimanding staff results in strikes and delays in paper assessments since the staff union
is very strong in the University

A study by Phelps, Doherty-Sneddon, and Warnock concluded that children who avoid eye
contact while considering their responses to questions are more likely to answer correctly than
children who maintain eye contact.

Which of the following statements will strengthen the author’s argument?

(a) Most children master maintaining eye-contact when they are three-months old.

(b) While maintaining eye-contact children might interpret verbal cues and get the right
answer

(c) Children fear the class teacher, so they avoid eye contact

(d) Looking at faces is mentally demanding, so when we are trying to concentrate it's unhelpful
to look at faces '

In the world of art, a work by Van Gogh or Munch can fetch tens of millions of pounds. Cast a
shadow of doubt over its provenance and that value rapidly declines. A hint of suspicion about it
being a forgery is what art sellers are worried about. But if it has a level of draughtsmanship,
colour and imagination that is nearly enough to fool an auction house expert, isn't that worth
something?
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Which of the following statements will strengthen the author’s argument that a forgery of a well-
known piece of art can under some circumstances also be valuable?

(a) Lots of people are looking for the same aesthetic experience, but can afford only a fraction
of the price.

(b) Many people end up buying a forgery, cleverly and carefully made by an extremely talented
artist.

(c) People who forge great art have to be skilled themselves.

(d) There are not enough paintings made by great painters available for future generations.

A solar-powered plane has landed in Morocco after flying from Spain, completing the second leg
of its pioneering journey. The plane — the size of a jumbo jet — was powered by 12,000 solar
cells turning four electrical motors. Made of carbon fibre, the plane is the size of an Airbus A340
but only weighs as much as an average family car, according to its creators. The aircraft made
history in July 2010 when it became the first manned solar plane to complete a 26-hour nonstop
flight. The landmark flight proved that the sun's energy was enough to keep the plane in the air,
even at night. The organisers now hope to go on a round-the-world tour with an improved Solar
Impulse model in 2014.

Which of the following statements can be inferred from the above passage?

(a) Solar technology can only be used in African countries where solar heat is optimum.
(b) Solar powered transportation is no longer a pipe dream.

(c) The biggest problem currently for solar transport is heavy rains and snow.

(d) Solar powered flights are not possible for transporting heavy loads.

Interestingly, the current economic crisis faced by the US economy has similar parallels in
history.
Which of the following statements can be inferred from the above passage?

(a) There are other countries in the world who are currently facing economic crisis.
(b) The economic crisis faced by the US is not completely new.

(c) History provides dates and data that can be incorporated in textbooks.

(d) Democracy means doing as one pleases.

TEST 2

Instructions for questions 11 to 20: Answers the following questions based on the information
given below

11.

12.

Plane food has come a long way. On every continent celebrity chefs are being courted by airlines
to consult on providing quality meals at an altitude of 35,000ft Even the very best wines become
dulled, and food can taste bland and under-seasoned when in flight.

Which of the following statements can best be described as the conclusion to the above passage?

(a) People are choosier about the food they eat as compared to earlier.

(b) Chefs are looking towards new employment opportunities.

(c) This signals the end of boring airline food and the arrival of gourmet cuisine in the skies.
(d) Cooking in-flight gourmet cuisine in airplane kitchens is not possible.

The century-old Nicobar school made a surprise announcement today. It says it supports the use
of cell-phones by its students, as long as they do not talk or SMS during classes. The
spokesperson for the school said to the media, “In this day and age the safety of the child is a
complicated concern. We cannot deny parents the access to their children at any time of the
day.” Parents of children who study in other schools and academicians in the city think this is a
very dangerous move.
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13.

14.

15.

16.

Which of the following strengthens the stand taken by those'who oppose the use of cellphones in
schools by kids?

(a) Cellphones are very distracting, even for adults

(b) Children spend 50% of their free time playing football in their school ground during recess
(c) Children do not spend enough time on school work and homework.

(d) There has been a rise in kidnaps due to expensive cellphones carried by children in schools.

The forward-looking city of Jodhnagar has announced that parenting classes will be made
compulsory for all expecting parents from 2012 onwards. This move is no surprise to the
Children Against Bad Parenting Advocacy Group that has been disseminating information about
the effects of bad parenting practices through all the media channels for the last one year.

Which of the following statements strengthens the need for this compulsory class?

(a) Today’s parents need to be taught parenting techniques.

(b) Bad parenting techniques have a lifelong impact on a child’s thinking thus affecting society.
(c) Jodhnagar is vying for international media attention.

(d) Schoolchildren in Jodhnagar are doing well in their exams.

Claiming that the twenty-first century child has no interest in books written even before the
twentieth century, most schools are mulling the plan to drop the study of classic books. While
several parents think this will help children increase their literacy skills by giving them texts
written in their own time, since they cannot imagine the context in which the classics were
written. But, several respected authors are cautioning against this unwelcome change citing that
the classics actually promote better language and debating skills.

Which of the following statements is in sync with the authors' contention?

(a) Classics increase basic literacy skills because of its abiding value and influence on culture.
(b) The sales of the classics will immediately fall, leading to losses.

(c) Children are not reading enough books anyway.

(d) The parents themselves do not like the classics.

The United National Women’s Freedom Group wants to petition China to reconsider its one-
child policy. A delegation from the Group will be visiting China next week to present their case.
They argue that this policy goes against the interests of women. They say that a larger family will
be more beneficial for the women.

Which of the following statements will weaken the argument made by the delegation?

(a) Women with one child can invest more time in their careers.
(b) Larger families will find it easier to lobby for subsidies.

(c) Women have always been a marginalised section of society.
(d) A one-child policy has worked well in China.

India, Israel and Taiwan make it legally binding for children to take care of their parents.
Chinese parents have the right to make their adult children sign a voluntary but legally binding
Family Support Agreement. In America, some states have a civil law which enables parents and
grandparents to take their descendants to court if their children do not give them support when
required. But, the United Kingdom has abolished the Elizabethan Poor Law which would make
parents and children legally responsible for each other.

Which of the following statements forms the basis of the argument for UK to abolish the Law?

(a) A bad parent will exploit the law, a good parent will be support the young anyway.
(b) The UK government was trying to win the votes of the minority community.

(c) India, Israel, Taiwan and America have tenuous family relationships.

(d) All of the above.

uU-C

2.11



CRITICAL REASONING

17.

18.

19.

20.

Using the phone while driving is said to be dangerous since the driver takes his attention off the
road. This is especially true during bad weather or traffic snarls, when the driver’s already taxed
attention gets stretched a lot while talking on the phone. Cellphone signals should therefore be
jammed on accident prone highways and during the rush-hour in cities.

Which of the following statements weakens the argument for jamming cellphone signals?

(a) Itis during emergencies such as bad weather that phones are handy for getting help.
(b) Driving under the influence of alcohol results in more accidents.

(c) On average, people spend only 45 seconds on a phone call while driving.

(d) The only answer to bad driving is to decongest roads.

Some say that the Internet has levelled the playing field for businesses. It has been especially
helpful for small companies and individuals who can set up their businesses online and reach a
huge customer base.

Which of the following statements will best weaken the data?

(a) Small businesses cannot deal with the costs of operating online.
(b) Bigbusinesses can absorb losses comparatively easily.

(c) The internet is a tool of democracy.

(d) Small businesses do not understand how to design a good site.

A recent study claims people who want to switch from a non-vegetarian diet to a vegetarian or
vegan diet can do so easily, even if they do not like the taste of broccoli, or pumpkin, or sesame
seeds. All they need to do is stick to the new diet for at least a month and the new diet will not
repulse them.

Which of the following statements has to be assumed to strengthen this study’s claim?

(a) The person’s family and friends have to adopt the new diet.

(b) The palate takes a month to adjust to new tastes.

(c) Ittakes a person a month to try new recipes.

(d) Ittakes less than a month to import broccoli and sesame seeds.

It is obvious that our cities are buckling under the astronomical number of private vehicles on
the roads.

Which is the most appropriate question to ask before making the above statement?

(a) How many vehicles can our city roads carry?

(b) Isitimportant that vehicles be produced in rural areas?

(c) Whatis more profitable- importing or indigenous manufacturing?
(d) All of the above.

TEST 3

Directions for questions 21 to 30: Answer the questions based on the passages given below.

21.

In the U.S.A. death by gunshot has become the leading cause of death among some social groups;
in particular for African-American males aged 12 to 19. But, there are several influential groups
in the country who believe that banning the sale and possession of firearms is against the
fundamental right of the citizen to protect his self and property.

Which of the following statements will strengthen the argument made by those who do not
support the banning of guns?

(a) Banning guns would not make them disappear or make them any less dangerous.
(b) The constitution does not allow citizens to own or carry weapons.

(c) Many people need guns to flash their social status.

(d) Guns are lethal; fewer are better.
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22,

23.

24.

25.

26.

Giving away toys with meals that are calorie laden and of poor nutritional quality creates an
emotional attachment between the child and fast food. This bond will then follow that child into
adulthood, making it harder for her to make better nutritional choices in order to become a
healthy individual. A ban on such marketing gimmicks would break that bond and make it easier
for children to grow up to be healthier adults.

Which of the following statements can be inferred from this passage?

(a) Advertising towards children can encourage poor habits even during adulthood.

(b) Advertising towards children is ethical as they purchase goods with their parents' money.
(c) Putting restrictions on children by an authoritarian force is a cultural issue.

(d) Children cannot critically engage with advertising but this reverses when they grow up.

It is ironic that the rich parents are claiming that it is their concern for the comfort of poor
children which makes them believe that if the Right to Education Bill were to be passed, it would
make the 25% poor students who have to be admitted into elite schools, feel severely out of
place. But, the rich are wrong, as usual.

Which of the following statements if true strengthens the author’s assumption that the rich have
it wrong about the poor children feeling out of place in elite schools?

(a) The rich and poor children stand to gain a lot from this experience.

(b) Some elite schools can make even the rich kids feel out of place.

(c) Several elite schools started admitting underprivileged children years ago, and there has
been no negative impact on the children.

(d) Rich or poor, as long as the examinations are fair, all the children work hard.

After the attacks on the World Trade Centre in America, security at airports has become a
thorough nuisance and a waste of time and a lot of money all over the world. So many ordinary
objects have been banned, and so much time is spent checking people and their baggage but air
travel has not really become more safe.

According to the author of this passage, if security is a waste of time and money, which of the
following studies will support his claim?

(a) Spending money on newer gadgets to detect explosives during checks should be a priority
(b) Airport security staff has never really dealt with a security breach as serious as 9/11.

(c) We should spend money on intelligence, investigation and emergency response.

(d) Airport staff at security checks are prepared for any hint of terrorist attack while screening.

If the arts generate indirect spending and employment, this makes it an important economic
activity. But, setting aside money so that the arts can be fostered, means taking away precious
resources from other important facilities that people cannot do without, such as old age homes,
medical clinics for the poor, and many other such facilities for the public good.

So, if there is a cut in the funding for plays and cultural programmes, will you as an artist argue
in front of a group of people who desperately need affordable good medical care more than a
play or a dance?

Which of the following statements can be inferred from this passage?

(a) The arts are not important for the economy.

(b) People are in general not'interested in the arts.

(c) Those who plan the budget do not appreciate the arts or health.
(d) The arts cannot depend on the government for funds.

America is one country that has no shortage of guns. Almost anyone can lay his hands on them. It
isn’t surprising then that the number of gun-related crimes is always on the rise. Which is why
law-abiding citizens must be allowed to keep a gun on their person or property and therefore
protect themselves.
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27.

28.

29.

30.

Which of the following statements will weaken the argument?

(a) Using guns for protection is everyone’s fundamental right.

(b) Policemen cannot be available whenever a crime is underway.

(c) 55% of all guns used in crimes are stolen from the homes of law-abiding citizens.
(d) Guns are dangerous regardless of who has them.

Since we pay for foed and shelter, which are necessary for life, it is perfectly morally acceptable
to pay for water and allow private entities to market it.

Which of the following statements strengthens the argument that water usage should be
payable?

(a) Profit-oriented private sector will ensure regular water supply.

(b) Water is a renewable resource and need not be commodified.

(c) Water is a basic human right and should not be paid for by the common man.
(d) Private companies have always wanted to sell water.

Banning books that can ruffle minorities is the right appreach in a democratic country like India.
Which of the following is an assumption?

(a) India is still home to a huge socialist movement.

(b) India has experienced a violent partition on religious grounds.

(¢) Inademocratic set-up, minorities' interests need to be safe guarded.
(d) India has 28 states and 9 union territories.

To prevent its environmental exploitation, the Antarctic Treaty of 1959 was signed. It has been
agreed that Antarctica should be used exclusively for peaceful purposes and that military
activities would be prohibited. It also guaranteed continued freedom for scientific research and
promoted international scientific cooperation.

Which of the following statements will weaken the argument for preserving Antarctica as a site
for scientific research and cooperation?

(a) The scientists themselves are damaging to Antarctica.

(b) The climate and terrain of the Antarctica doesn’t match any other place on earth.

(c) Scientists are unable to correlate results of experiments here with the rest of the world.
(d) Not many people have visited the Antarctica.

The rise of inflammatory bowel diseases could be down to our shifting diets causing a "boom in
bad bacteria”, according to researchers. The researchers said the high-fat diet changed the way
food was digested and encouraged harmful bacteria. Microbiologists said modifying gut bacteria
might treat the disease.

Which of the following statements best summarises the proposed treatment for IBDs?

(a) Reduction in consumption of monosaturated milk fats can ease the pain.
(b) Abalanced diet comprising fibre and proteins is the best solution.

(c) Reshaping the microbial balance of the gut could solve the IBD problem.
(d) Strengthening the bowel muscles is the most effective solution.

TEST 4

Directions for questions 31 to 34: Answer the questions based on the passages given below.

31.

Racist attacks are on the rise in most countries prompting Indian students to do a rethink on
their decision to study abroad. However, governments in the countries concerned have
promised to take up active campaigns to educate the public and ensure that students are
provided a safe and healthy atmosphere to live in. The fact that hate crimes are on the rise, does
not reflect positively on their efforts.
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32.

33.

34.

The argument “hate crimes are increasing despite efforts by the authorities” would weaken if:

(a) Students have to study abroad due to lack of the right teaching facilities in India.

(b) The police have reported 30 hate crimes as compared to last year's figures.

(c) Racist crimes are now a punishable offence and can lead to imprisonment.

(d) 911 call centres report an 80% reduction in SOS calls received by them in this category.

Delaying fatherhood may offer survival advantages, say Asian scientists who have found
children with older fathers and grandfathers appear to be "genetically programmed” to live
longer.

The argument that late fatherhood is beneficial for future generations can be strengthened
greatly by which of the following statements?

(a) Delayed fatherhood increases chances of miscarriages but also health benefits.

(b) Older fatherhood translates into stronger immune systems and better tissue growth for the
child.

(c) The health status of the offspring has not been analysed.

(d) Scientists are trying to figure out the ideal fatherhood age for the child.

Venkateshwara Hatcheries, or Venky's, as the Pune-based company is better known, purchased
the Blackburn Rovers football team for INR 195 crore in November 2010. The media went
overboard calling this acquisition a symbol of India’s growing global might. But under the new
ownership, the football team’s status has nosedived in the last few years. The team has now
been relegated, and won’t be playing in the Championship this season. Blackburn fans are
resorting to outrageous pranks, and vociferous rallies to urge Venky’s to leave their football
team alone, and therefore reverse their team’s fortune.

Which of the following statements if true will seriously weaken the argument made by the angry
fans?

(a) Venky’s plans to buy the rival team too.

(b) The coach of the football team was recently arrested for drug abuse.
(c) Football teams the world over are suffering due to lack of sponsorship.
(d) Blackburn has a history of being relegated before championships.

In the early twentieth century, the biggest crisis in America was addiction to liquor. It was
leading to a rise in domestic violence, anger-fuelled crimes, absenteeism from work, and pushed
society towards self-destruction. Prohibition in the 1930s just made matters worse, by pushing
the business underground, and into the hands of those who were aggressively pushing for
profits, used nefarious means to get their way, and weren’t averse to selling badly brewed
liquor, for money. Today, society is hurtling towards self-destruction again, and this time the
reason is marijuana addiction. But enforcing a Prohibition on the drug could just make the
problem worse as it did in the 1930s.

Which of the following statements is the underlying assumption?

(a) The biggest crisis in America was addiction to liquor.

(b) Prohibition made matters worse, by pushing the business underground.

(c) Since prohibition against alcohol failed, prohibition against marijuana will fail too.
(d) None of these )

Directions for question 35: Answer the following question based on the statements given below.

35.

1. When the going gets tough, the tough get going.
2. Let's get out of here. It's really difficult to solve it.
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Which of the following is true?

(a) 2 isthe one to bank on, when the going gets tough.
(b) 1is the one to bank on, when the going gets tough.
(c) 2is the last one to bank on, when the going gets tough.
(d) 1is the last one to bank on, when the going gets tough.

Directions for question 36 to 40: Answer the following question based on the passages given
below.

36.

37.

38.

39.

Team meetings convened to find solutions to problems are largely silent affairs. But,
brainstorming is the modern managz.~’s answer to getting employees to open up. Gather the
team in a room, place a whiteboard in front of them, and eventually, after a series of free
associations, the solution everyone is looking for will appear. The rules are that nobody must
scoff at even the most unlikely idea.

Which of the following statements is the underlying assumption of this argument?

(a) Team meetings are useless.

(b) Brainstorming sessions need to be challenging.

(c) If people are scared of saying the wrong thing, they’ll hardly open up.
(d) CEOs prefer to think about solutions together.

In the last five years, the number of students seeking admission to the government-funded
Godhpur University has been falling by 68%. During a recent budget review, the state’s home
minister proposed shutting down the university and using the funds for other purposes. He has
recently shut down two other Universities based on the minister’s claims that the state’s funds
were being poured into a loss-making institution. But, even a quick look at the University’s
distance education programme shows that the university has about 2.3 lakh students enrolled
for various online courses, this number has been growing steadily for the last five years, filling
the University’s coffers.

What can you conclude from the above passage?

(a) Ministers feel that the University is a drain of funds.

(b) There are more students in Godhpur than in Delhi.

(c) The University has more virtual students than regular ones.

(d) Offering distance education courses has been a monetary boon for the University.

A new television advert for Diet Bhujia featuring singer D has been cleared by the Advertising
Standards in an Indian state after they received 22 complaints.

The advert depicts D cycling through a supermarket during a concert she was performing in.
Eighteen viewers complained because she was not wearing reflective clothing and her bicycle
had no lights, and that children could copy her actions.

AS upheld Diet Bhujia's argument that the ad was supposed to reflect D's fantasy and her escape
from the pressures of being a celebrity.

Which of the following statements is the underlying assumption of the AS’s judgment?

(a) Children will not copy an ad based on a fantasy.

(b) D isan extremely careful person in real life.

(c) Ads do not exercise any influence on people.

(d) The brand team of diet Bhujia understands the pressures celebrities are under.

An advert by fast food restaurant Burger King could be banned from British television over
claims that it is misleading. The campaign for the new TenderCrisp chicken burger received two
complaints over the fact that the burger appears significantly larger on the advert than in real
life. The Advertising Standards Authority (ASA) investigated the complaints and purchased
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40.

three burgers from a Burger King restaurant. They reported that both the thickness and the
height were "considerably less" than in the advertisement.

Which of the following statements can strengthen Burger King's case?

(a) Advertisements are actually supposed to show the real size of products.

(b) Normally, people do measure the product on the TV screen.

(c) The advert needed to make all the ingredients in the product clearly visible.<ns1:XMLFault xmlns:ns1="http://cxf.apache.org/bindings/xformat"><ns1:faultstring xmlns:ns1="http://cxf.apache.org/bindings/xformat">java.lang.OutOfMemoryError: Java heap space</ns1:faultstring></ns1:XMLFault>